ARIZONA DEPARTMENT OF TRANSPORTATION INFRASTRUCTURE DELIVERY AND OPERATIONS DIVISION CONTRACTS AND SPECIFICATIONS SECTION

TABULATION OF BIDS

CONTRACT # 2025035

TRACS No.		S No.	Project No.	Item	County	District	Gross Length	Net Length	Prepared By:
083	SC 028	F068801C	083-A-NFA	104059	SANTA CRUZ	SOUTHCENT	3		Yusuf Kadem

Highway Termini	Location	Work Description
-----------------	----------	------------------

[•] PARKER CANYON LAKE – MT VIEW HIGHWAY • Black Oak Dr To Lower Elgin Rd (SR-83)

Pavement Rehabilitation

Printed: 8/25/2025 Page 1 of 8

BID RESULTS FOR 2025035

Bid Opening Date: 7/18/2025, Prequalification Required, Engineer Specialist: Yusuf Kadem

Completion Date:

200 Calendar Days

The proposed work is located in Sonoita, Santa Cruz County on SR 83 between MP 28.50 and 31.25. The work consists of reconstructing the pavement for the length of the project. The roadway work includes pavement removal, asphaltic concrete paving, erosion control, pavement markings, guardrail, and other related work.

Bid Rank	Compared To Department Estimat Option #	Bid Amount	Contractor	Extended Sum of Items
	+%	\$4,363,165.50	DEPARTMENT ESTIMATE	\$4,363,165.50
1	-9.9%	\$3,929,810.00	GRANITE CONSTRUCTION COMPANY 4115 E ILLINOIS ST TUCSON, AZ 85714-	\$3,929,810.00
2	+4.1%	\$4,541,283.85	SUNLAND ASPHALT & CONSTRUCTION LLC 1625 E. NORTHERN AVENUE PHOENIX, AZ 85020-	\$4,541,283.85
3	+13.4%	\$4,948,419.00	ISX CONSTRUCTION, LLC. 5800 W. ARIZONA PAVILIONS DRIVE # 2398 TUCSON, AZ 85652-	\$4,948,419.00

Winning Bidder is 9.9% Under Department Estimate (Difference = (\$433,355.50))

Printed: 8/25/2025 Page 2 of 8 *** Bid Tabs for Proposal Pamphlet 2025035 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2020047	EACH	REMOVAL OF SIGNS				
Bid Rank	Department Estimate		7.000	\$300.000	\$2,100.00	
1	GRANITE C	CONSTRUCTION COMPANY		\$650.000	\$4,550.00	+116.7%
2	SUNLAND A	ASPHALT & CONSTRUCTION LLC		\$300.000	\$2,100.00	+0.0%
3	ISX CONST	RUCTION, LLC.		\$500.000	\$3,500.00	+66.7%
2020054	EACH	REMOVE (GUARD RAIL END TERM	/INAL)			
Bid Rank	Department	Estimate	4.000	\$1,000.000	\$4,000.00	
1	GRANITE C	CONSTRUCTION COMPANY		\$800.000	\$3,200.00	-20.0%
2	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$300.000	\$1,200.00	-70.0%
3	ISX CONST	RUCTION, LLC.		\$275.000	\$1,100.00	-72.5%
2020071	L.FT.	REMOVE GUARD RAIL				
Bid Rank	Department	Estimate	988.000	\$15.000	\$14,820.00	
1	GRANITE C	CONSTRUCTION COMPANY		\$5.150	\$5,088.20	-65.7%
2	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$9.500	\$9,386.00	-36.7%
3	ISX CONST	RUCTION, LLC.		\$8.500	\$8,398.00	-43.3%
2020081	SQ.YD.	REMOVE BITUMINOUS PAVEMEN	Γ (MILLING) (1")			
Bid Rank	Department	Estimate	382.000	\$10.000	\$3,820.00	
1	GRANITE C	CONSTRUCTION COMPANY		\$28.000	\$10,696.00	+180.0%
2	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$36.200	\$13,828.40	+262.0%
3	ISX CONST	RUCTION, LLC.		\$7.000	\$2,674.00	-30.0%
2020085	SQ.YD.	REMOVE BITUMINOUS PAVEMENT	Γ (MILLING) (3")			
Bid Rank	Department	Estimate	12,776.000	\$4.500	\$57,492.00	
1	GRANITE C	CONSTRUCTION COMPANY		\$7.250	\$92,626.00	+61.1%
2	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$13.500	\$172,476.00	+200.0%
3	ISX CONST	RUCTION, LLC.		\$7.000	\$89,432.00	+55.6%
2020086	SQ.YD.	REMOVE BITUMINOUS PAVEMENT	Γ (MILLING) (3 1/2 ")			
Bid Rank	Department	Estimate	25,144.000	\$5.000	\$125,720.00	
1	GRANITE C	CONSTRUCTION COMPANY		\$7.750	\$194,866.00	+55.0%
2	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$10.750	\$270,298.00	+115.0%
3	ISX CONST	RUCTION, LLC.		\$7.000	\$176,008.00	+40.0%
2030301	CU.YD.	ROADWAY EXCAVATION				
Bid Rank	Department	Estimate	1,902.000	\$33.000	\$62,766.00	
1	GRANITE C	CONSTRUCTION COMPANY		\$112.000	\$213,024.00	+239.4%
2	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$67.500	\$128,385.00	+104.5%
3	ISX CONST	RUCTION, LLC.		\$25.000	\$47,550.00	-24.2%
2030900	CU.YD.	BORROW (IN PLACE)				
Bid Rank	Department	Estimate	48.000	\$90.000	\$4,320.00	
1	GRANITE C	CONSTRUCTION COMPANY		\$275.000	\$13,200.00	+205.6%

Printed: 8/25/2025 Page 3 of 8 *** Bid Tabs for Proposal Pamphlet 2025035 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2030900	CU.YD.	BORROW (IN PLACE)				
Bid Rank	Department	t Estimate	48.000	\$90.000	\$4,320.00	
2	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$135.000	\$6,480.00	+50.0%
3	ISX CONST	FRUCTION, LLC.		\$500.000	\$24,000.00	+455.6%
3030022	CU.YD.	AGGREGATE BASE, CLASS 2				
Bid Rank	Department	Estimate	288.000	\$200.000	\$57,600.00	
1	GRANITE C	CONSTRUCTION COMPANY		\$500.000	\$144,000.00	+150.0%
2	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$383.000	\$110,304.00	+91.5%
3	ISX CONST	TRUCTION, LLC.		\$800.000	\$230,400.00	+300.0%
4040111	TON	BITUMINOUS TACK COAT				
Bid Rank	Department	t Estimate	15.000	\$800.000	\$12,000.00	
1	GRANITE C	CONSTRUCTION COMPANY		\$850.000	\$12,750.00	+6.3%
2	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$500.000	\$7,500.00	-37.5%
3	ISX CONST	FRUCTION, LLC.		\$1,000.000	\$15,000.00	+25.0%
4040116	HOUR	APPLY BITUMINOUS TACK COAT				
Bid Rank	Department	t Estimate	360.000	\$280.000	\$100,800.00	
1	GRANITE C	CONSTRUCTION COMPANY		\$170.000	\$61,200.00	-39.3%
2	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$45.000	\$16,200.00	-83.9%
3	ISX CONST	FRUCTION, LLC.		\$100.000	\$36,000.00	-64.3%
4040125	TON	FOG COAT				
Bid Rank	Department	t Estimate	10.000	\$1,000.000	\$10,000.00	
1	GRANITE C	CONSTRUCTION COMPANY		\$1,225.000	\$12,250.00	+22.5%
2	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$2,100.000	\$21,000.00	+110.0%
3	ISX CONST	TRUCTION, LLC.		\$2,000.000	\$20,000.00	+100.0%
4040165	SQ.YD.	BLOTTER MATERIAL				
Bid Rank	Department	t Estimate	45.000	\$2.000	\$90.00	
1	GRANITE C	CONSTRUCTION COMPANY		\$50.000	\$2,250.00	+2400.0%
2	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$1.000	\$45.00	-50.0%
3	ISX CONST	FRUCTION, LLC.		\$200.000	\$9,000.00	+9900.0%
4040230	TON	ASPHALT BINDER (PG 70-28 PM)(F	FOR AC-EP) (3/4")(SPE	CIAL MIX)		
Bid Rank	Department	t Estimate	705.000	\$950.000	\$669,750.00	
1	GRANITE C	CONSTRUCTION COMPANY		\$600.000	\$423,000.00	-36.8%
2	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$747.000	\$526,635.00	-21.4%
3	ISX CONST	TRUCTION, LLC.		\$675.000	\$475,875.00	-28.9%
4160004	TON	ASPHALTIC CONCRETE (3/4" MIX)	(END PRODUCT) (SPE	CIAL MIX)		
Bid Rank	Department	Estimate	12,859.000	\$115.000	\$1,478,785.00	
1	GRANITE C	CONSTRUCTION COMPANY		\$94.500	\$1,215,175.50	-17.8%
2	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$112.350	\$1,444,708.65	-2.3%

Printed: 8/25/2025 Page 4 of 8 *** Bid Tabs for Proposal Pamphlet 2025035 ***

ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
4160004	TON	ASPHALTIC CONCRETE (3/4" MIX)	(END PRODUCT) (SPEC	CIAL MIX)		
Bid Rank	Department	Estimate	12,859.000	\$115.000	\$1,478,785.00	
3	ISX CONST	RUCTION, LLC.		\$170.000	\$2,186,030.00	+47.8%
4160031	TON	MINERAL ADMIXTURE				
Bid Rank	Department	Estimate	120.000	\$90.000	\$10,800.00	
1	GRANITE C	ONSTRUCTION COMPANY		\$90.000	\$10,800.00	+0.0%
2	SUNLAND A	ASPHALT & CONSTRUCTION LLC		\$90.000	\$10,800.00	+0.0%
3	ISX CONST	RUCTION, LLC.		\$90.000	\$10,800.00	+0.0%
6070039	EACH	SLIP BASE (FOR PERFORATED SIG	GN POST)			
Bid Rank	Department	Estimate	5.000	\$400.000	\$2,000.00	
1	GRANITE C	ONSTRUCTION COMPANY		\$583.000	\$2,915.00	+45.8%
2	SUNLAND A	ASPHALT & CONSTRUCTION LLC		\$400.000	\$2,000.00	+0.0%
3	ISX CONST	RUCTION, LLC.		\$375.000	\$1,875.00	-6.3%
6070054	L.FT.	SIGN POST (PERFORATED) (2 S)				
Bid Rank	Department	Estimate	23.000	\$40.000	\$920.00	
1	GRANITE C	ONSTRUCTION COMPANY		\$7.650	\$175.95	-80.9%
2	SUNLAND A	ASPHALT & CONSTRUCTION LLC		\$29.250	\$672.75	-26.9%
3	ISX CONST	RUCTION, LLC.		\$27.000	\$621.00	-32.5%
6070055	L.FT.	SIGN POST (PERFORATED) (2 1/2 S	S)			
Bid Rank	Department	Estimate	46.000	\$20.000	\$920.00	
1	GRANITE C	ONSTRUCTION COMPANY		\$10.150	\$466.90	-49.3%
2	SUNLAND A	ASPHALT & CONSTRUCTION LLC		\$35.000	\$1,610.00	+75.0%
3	ISX CONST	RUCTION, LLC.		\$32.000	\$1,472.00	+60.0%
6070057	L.FT.	SIGN POST (PERFORATED) (2 1/2 1	Γ)			
Bid Rank	Department	Estimate	66.000	\$25.000	\$1,650.00	
1	GRANITE C	ONSTRUCTION COMPANY		\$18.250	\$1,204.50	-27.0%
2	SUNLAND A	ASPHALT & CONSTRUCTION LLC		\$46.750	\$3,085.50	+87.0%
3	ISX CONST	RUCTION, LLC.		\$40.000	\$2,640.00	+60.0%
6070060	EACH	FOUNDATION FOR SIGN POST (CC	NCRETE)			
Bid Rank	Department	Estimate	10.000	\$400.000	\$4,000.00	
1	GRANITE C	ONSTRUCTION COMPANY		\$280.000	\$2,800.00	-30.0%
2	SUNLAND A	ASPHALT & CONSTRUCTION LLC		\$292.500	\$2,925.00	-26.9%
3	ISX CONST	RUCTION, LLC.		\$250.000	\$2,500.00	-37.5%
6080005	SQ.FT.	REGULATORY, WARNING, OR MAR	KER SIGN PANEL			
Bid Rank	Department	Estimate	102.000	\$30.000	\$3,060.00	
1	GRANITE C	ONSTRUCTION COMPANY		\$26.500	\$2,703.00	-11.7%
2	SUNLAND A	ASPHALT & CONSTRUCTION LLC		\$46.750	\$4,768.50	+55.8%
3	ISX CONST	RUCTION, LLC.		\$43.000	\$4,386.00	+43.3%

Printed: 8/25/2025 Page 5 of 8 *** Bid Tabs for Proposal Pamphlet 2025035 ***

Item Number	Unit of Measure Item Descripti	on	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate	
6080025	SQ.FT. FLAT SHEET	ALUMINUM SIGN PANEL					
Bid Rank	Department Estimate		51.000	\$35.000	\$1,785.00		
1	GRANITE CONSTRUCTION	COMPANY		\$26.500	\$1,351.50	-24.3%	
2	SUNLAND ASPHALT & CONS	STRUCTION LLC		\$52.500	\$2,677.50	+50.0%	
3	ISX CONSTRUCTION, LLC.			\$48.000	\$2,448.00	+37.1%	
7010005	L.SUM MAINTENANC	E AND PROTECTION OF	FTRAFFIC				
Bid Rank	Department Estimate		1.000	\$100,000.000	\$100,000.00		
1	GRANITE CONSTRUCTION	COMPANY		\$65,000.000	\$65,000.00	-35.0%	
2	SUNLAND ASPHALT & CONS	STRUCTION LLC		\$128,000.000	\$128,000.00	+28.0%	
3	ISX CONSTRUCTION, LLC.			\$48,077.500	\$48,077.50	-51.9%	
7016050	EACH-DAY TRUCK-MOUN	NTED ATTENUATOR					
Bid Rank	Department Estimate		138.000	\$1,000.000	\$138,000.00		
1	GRANITE CONSTRUCTION	COMPANY		\$780.000	\$107,640.00	-22.0%	
2	SUNLAND ASPHALT & CONS	STRUCTION LLC		\$1,950.000	\$269,100.00	+95.0%	
3	ISX CONSTRUCTION, LLC.			\$250.000	\$34,500.00	-75.0%	
7016067	EACH-DAY CHANGEABLI	E MESSAGE BOARD (CC	NTRACTOR FUR	NISHED)			
Bid Rank	Department Estimate		400.000	\$60.000	\$24,000.00		
1	GRANITE CONSTRUCTION	COMPANY		\$38.050	\$15,220.00	-36.6%	
2	SUNLAND ASPHALT & CONS	STRUCTION LLC		\$35.000	\$14,000.00	-41.7%	
3	ISX CONSTRUCTION, LLC.			\$45.000	\$18,000.00	-25.0%	
7016075	HOUR FLAGGING SE	ERVICES (CIVILIAN)					
Bid Rank	Department Estimate		2,096.000	\$60.000	\$125,760.00		
1	GRANITE CONSTRUCTION	COMPANY		\$38.880	\$81,492.48	-35.2%	
2	SUNLAND ASPHALT & CONS	STRUCTION LLC		\$50.000	\$104,800.00	-16.7%	
3	ISX CONSTRUCTION, LLC.			\$75.000	\$157,200.00	+25.0%	
7016079	HOUR FLAGGING SE	ERVICES (UNIFORMED (OFFICER)				
Bid Rank	Department Estimate		1,088.000	\$100.000	\$108,800.00		
1	GRANITE CONSTRUCTION	COMPANY		\$105.000	\$114,240.00	+5.0%	
2	SUNLAND ASPHALT & CONS	STRUCTION LLC		\$105.000	\$114,240.00	+5.0%	
3	ISX CONSTRUCTION, LLC.			\$100.000	\$108,800.00	+0.0%	
7040005	L.FT. PAVEMENT M	ARKING (WHITE EXTRU	DED THERMOPLA	ASTIC) (0.090")			
Bid Rank	Department Estimate		42,375.000	\$0.750	\$31,781.25		
1	GRANITE CONSTRUCTION	COMPANY		\$0.480	\$20,340.00	-36.0%	
2	SUNLAND ASPHALT & CONS	STRUCTION LLC		\$0.500	\$21,187.50	-33.3%	
3	ISX CONSTRUCTION, LLC.			\$0.500	\$21,187.50	-33.3%	
7040006	L.FT. PAVEMENT M	ARKING (YELLOW EXTR	RUDED THERMOP	PLASTIC) (0.090")			
Bid Rank	Department Estimate		42,240.000	\$0.750	\$31,680.00		
1	GRANITE CONSTRUCTION	COMPANY		\$0.480	\$20,275.20	-36.0%	

Printed: 8/25/2025 *** Bid Tabs for Proposal Pamphlet 2025035 *** Page 6 of 8 *** Bid Tabs for Proposal Pamphlet 2025035 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7040006	L.FT.	PAVEMENT MARKING (YELLOW E	XTRUDED THERMOPL	ASTIC) (0.090")		
Bid Rank	Department	: Estimate	42,240.000	\$0.750	\$31,680.00	
2	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$0.500	\$21,120.00	-33.3%
3	ISX CONST	RUCTION, LLC.		\$0.500	\$21,120.00	-33.3%
7060101	EACH	PAVEMENT MARKER, RECESSED	, TYPE D			
Bid Rank	Department	: Estimate	400.000	\$8.000	\$3,200.00	
1	GRANITE C	CONSTRUCTION COMPANY		\$7.700	\$3,080.00	-3.8%
2	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$13.750	\$5,500.00	+71.9%
3	ISX CONST	RUCTION, LLC.		\$7.750	\$3,100.00	-3.1%
7080201	L.FT.	WATERBORNE-TYPE I PAVEMENT	MARKING (PAINTED)	(WHITE)		
Bid Rank	Department	: Estimate	36,695.000	\$0.750	\$27,521.25	
1	GRANITE C	CONSTRUCTION COMPANY		\$0.160	\$5,871.20	-78.7%
2	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$0.170	\$6,238.15	-77.3%
3	ISX CONST	RUCTION, LLC.		\$1.000	\$36,695.00	+33.3%
7080202	L.FT.	WATERBORNE-TYPE I PAVEMENT	MARKING (PAINTED)	(YELLOW)		
Bid Rank	Department	: Estimate	36,620.000	\$0.750	\$27,465.00	
1	GRANITE C	CONSTRUCTION COMPANY		\$0.160	\$5,859.20	-78.7%
2	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$0.170	\$6,225.40	-77.3%
3	ISX CONST	RUCTION, LLC.		\$1.000	\$36,620.00	+33.3%
7310011	EACH	POLE (TYPE A) (15')				
Bid Rank	Department	: Estimate	2.000	\$2,750.000	\$5,500.00	
1	GRANITE C	CONSTRUCTION COMPANY		\$2,620.000	\$5,240.00	-4.7%
2	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$3,300.000	\$6,600.00	+20.0%
3	ISX CONST	RUCTION, LLC.		\$3,850.000	\$7,700.00	+40.0%
7310200	EACH	POLE FOUNDATION (TYPE A)				
Bid Rank	Department	: Estimate	2.000	\$1,500.000	\$3,000.00	
1	GRANITE C	CONSTRUCTION COMPANY		\$2,200.000	\$4,400.00	+46.7%
2	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$2,800.000	\$5,600.00	+86.7%
3	ISX CONST	RUCTION, LLC.		\$1,925.000	\$3,850.00	+28.3%
7350023	EACH	LOOP DETECTOR (SPEED/CLASS	IFICATION) (PARTIAL F	REPLACEMENT)		
Bid Rank	Department	: Estimate	1.000	\$15,000.000	\$15,000.00	
1	GRANITE C	CONSTRUCTION COMPANY		\$20,000.000	\$20,000.00	+33.3%
2	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$20,000.000	\$20,000.00	+33.3%
3	ISX CONST	RUCTION, LLC.		\$40,000.000	\$40,000.00	+166.7%
8050003	ACRE	SEEDING (CLASS II)				
Bid Rank	Department	Estimate	5.000	\$7,000.000	\$35,000.00	
1	GRANITE C	CONSTRUCTION COMPANY		\$6,000.000	\$30,000.00	-14.3%
2	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$10,000.000	\$50,000.00	+42.9%

Printed: 8/25/2025 Page 7 of 8 *** Bid Tabs for Proposal Pamphlet 2025035 ***

Item Number	Unit of Measure Ite	m Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
8050003	ACRE SI	EEDING (CLASS II)				
Bid Rank	Department Estin	nate	5.000	\$7,000.000	\$35,000.00	
3	ISX CONSTRUC	TION, LLC.		\$8,000.000	\$40,000.00	+14.3%
8101021	L.FT. EI	ROSION CONTROL (WATTLES) (9	")			
Bid Rank	Department Estin	nate	6,870.000	\$8.000	\$54,960.00	
1	GRANITE CONS	TRUCTION COMPANY		\$6.140	\$42,181.80	-23.3%
2	SUNLAND ASPH	ALT & CONSTRUCTION LLC		\$5.000	\$34,350.00	-37.5%
3	ISX CONSTRUC	TION, LLC.		\$3.000	\$20,610.00	-62.5%
9010001	L.SUM M	OBILIZATION				
Bid Rank	Department Estin	nate	1.000	\$410,000.000	\$410,000.00	
1	GRANITE CONS	TRUCTION COMPANY		\$392,500.000	\$392,500.00	-4.3%
2	SUNLAND ASPH	ALT & CONSTRUCTION LLC		\$419,000.000	\$419,000.00	+2.2%
3	ISX CONSTRUC	TION, LLC.		\$490,000.000	\$490,000.00	+19.5%
9050005	L.FT. G	UARD RAIL, W-BEAM, SINGLE FA	CE (MASH)			
Bid Rank	Department Estin	nate	875.000	\$60.000	\$52,500.00	
1	GRANITE CONS	TRUCTION COMPANY		\$37.150	\$32,506.25	-38.1%
2	SUNLAND ASPH	ALT & CONSTRUCTION LLC		\$68.500	\$59,937.50	+14.2%
3	ISX CONSTRUC	TION, LLC.		\$58.000	\$50,750.00	-3.3%
9050023	EACH G	UARD RAIL TERMINAL				
Bid Rank	Department Estin	nate	4.000	\$6,000.000	\$24,000.00	
1	GRANITE CONS	TRUCTION COMPANY		\$5,830.000	\$23,320.00	-2.8%
2	SUNLAND ASPH	ALT & CONSTRUCTION LLC		\$6,500.000	\$26,000.00	+8.3%
3	ISX CONSTRUC	TION, LLC.		\$5,800.000	\$23,200.00	-3.3%
9050452	EACH G	UARD RAIL POSTS (C-10.07)				
Bid Rank	Department Estin	nate	48.000	\$1,500.000	\$72,000.00	
1	GRANITE CONS	TRUCTION COMPANY		\$1,335.000	\$64,080.00	-11.0%
2	SUNLAND ASPH	ALT & CONSTRUCTION LLC		\$1,000.000	\$48,000.00	-33.3%
3	ISX CONSTRUC	TION, LLC.		\$850.000	\$40,800.00	-43.3%
9240010	L.SUM FO	ORCE ACCOUNT WORK (REPAIR	BASE MATERIAL)			
Bid Rank	Department Estin	nate	1.000	\$220,000.000	\$220,000.00	
1	GRANITE CONS	TRUCTION COMPANY		\$220,000.000	\$220,000.00	+0.0%
2	SUNLAND ASPH	ALT & CONSTRUCTION LLC		\$220,000.000	\$220,000.00	+0.0%
3	ISX CONSTRUC	TION, LLC.		\$220,000.000	\$220,000.00	+0.0%
9240120	EACH M	ISCELLANEOUS WORK (SOLAR	SPEED FEEDBACK SIG	SN ASSEMBLY)		
Bid Rank	Department Estin	nate	2.000	\$15,000.000	\$30,000.00	
1	GRANITE CONS	TRUCTION COMPANY		\$12,725.000	\$25,450.00	-15.2%
2	SUNLAND ASPH	ALT & CONSTRUCTION LLC		\$11,600.000	\$23,200.00	-22.7%
3	ISX CONSTRUC	TION, LLC.		\$26,000.000	\$52,000.00	+73.3%

Printed: 8/25/2025 Page 8 of 8 *** Bid Tabs for Proposal Pamphlet 2025035 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9240170	L.SUM	CONTRACTOR QUALITY CONTRO	L			
Bid Rank	Department	Estimate	1.000	\$120,000.000	\$120,000.00	
1	GRANITE C	CONSTRUCTION COMPANY		\$93,901.320	\$93,901.32	-21.7%
2	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$55,000.000	\$55,000.00	-54.2%
3	ISX CONST	RUCTION, LLC.		\$50,000.000	\$50,000.00	-58.3%
9240181	SQ.YD.	MISCELLANEOUS WORK (CONTRO	OL OF NOXIOUS PLAN	ITS)(MECHANICAL M	IETHODS)	
Bid Rank	Department	Estimate	10,000.000	\$0.850	\$8,500.00	
1	GRANITE C	CONSTRUCTION COMPANY		\$0.800	\$8,000.00	-5.9%
2	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$4.750	\$47,500.00	+458.8%
3	ISX CONST	RUCTION, LLC.		\$0.800	\$8,000.00	-5.9%
9240182	SQ.YD.	MISCELLANEOUS WORK (CONTRO	OL OF NOXIOUS PLAN	ITS)(HERBICIDE)		
Bid Rank	Department	Estimate	29,000.000	\$0.700	\$20,300.00	
1	GRANITE C	CONSTRUCTION COMPANY		\$0.480	\$13,920.00	-31.4%
2	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$0.400	\$11,600.00	-42.9%
3	ISX CONST	RUCTION, LLC.		\$0.500	\$14,500.00	-28.6%
9250001	L.SUM	CONSTRUCTION SURVEYING AND	LAYOUT			
Bid Rank	Department	Estimate	1.000	\$45,000.000	\$45,000.00	
1	GRANITE C	CONSTRUCTION COMPANY		\$85,000.000	\$85,000.00	+88.9%
2	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$65,000.000	\$65,000.00	+44.4%
3	ISX CONST	RUCTION, LLC.		\$50,000.000	\$50,000.00	+11.1%